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guantitytomaximize
Perimeter _Isom 2x 1g Area A ayZz 2K A xT 2x

y 150 2x Gfactoredform
150 2 2

2 2 15070solutions taint general form
A 21150 2 7 0

f t 150 22 0 Theres no area
2 0 2K 1 2x
T 2x _150
NOlength 2 2

2 75 NOwidth

75 A K 150 Zz
37.511502137.5

I 1 I 72C 375 150 75
0 3 5 75 37.5175

37.5 375 2812.5
This is the maximum area that can bemade with
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Xhowmuchmoneytheywill make costiguantity
f revenue let a 120 104

K the number oftimes thepricechangesby 1

R lot x 120 10 3 0
I a

61 2 0 120 102 0
6 6 t 107C t107C
N 6 102 120
7 To To

givingawayfood r iz tooexpensive
no one's
buying

18

I l l 77C
6 3 12

9 9

12 6137420 10137
9 120 30 6 120 0720
9 90 10 80 8800
810


